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Run 6147 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 32746 Entriea: 34555

— Mean: 277961 +- 0.1522 | Mean: -3.7686 «- 0.1011

- Laser OFF Std Dev: 27.5345 4= 0.1076 | Std Dev: 18.7926 +- 0.0715

[ l L L I | L L | L l L L L | L L I
400 —200 0 200 400

— Laser ON Entries: 32746 Entries: 34555 aam1_1ach._packo
— Mean: 130764 +- 0.0040 Mean: 2.6349 +- 0.0016 34555
— Laser OFF Std Dev: 0.7322 +- 0.0029 | Std Dev: 0.3063 +/- 0.0012 2.835
— S0 DBV 0.3063
_I | | | 1 | | | | I L | | _u-"l_'_l_‘—h_ 1 | | | | |

2 4 6 B 10 12 14

3500

3000

2500

2000

1500

1000

500

Run 6147 quartetwise, negHO: Beam DIN

— Laser ON Entries: 32745 Entries: 34555 aom1_ined_nagHa
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-------- Histogram Vars

Positive Hel (ON): 13.076393 +/- 0.004046
Negative Hel (ON): 12.522923 +/- 0.003782
Positive Hel (OFF): 2.834906 +/- 0.001648
Negative Hel (OFF): 2.909730 +/- 0.001638
-------- Sums and Diffs

On Diff: 0.553471 +/- 0.002801

Off Diff: -0.074824 +/- 0.002007
On Sum: 25.599316 +/- 0.007315

Off Sum: 5.744637 +/- 0.002602
-------- Asymmetries
On Asym: 27.876077 +/- 0.141498 (ppt)
Off Asym: -3.768587 +/- -0.101106 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 19.854680 +/- 0.007764
BkSub Asym: 31.644663 +/- 0.173909 (ppt)




asym (AccO) / ppt

Run 6147 quartetwise, posHO vs time
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Run 6147 quartetwise, asymQ0sub vs time
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Run 6147 quartetwise, negHO vs time
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Run 6147 quartetwise, bcm vs time
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